Unit 2 Objective 6 Remediation

Draw a line of Best Fit

Line of Best Fit> The line of best fit represents an approximation of the data on a scatter
plot.

* The line should be as close to as many points as possible.
* There is room for difference when drawing a line of best fit.

Example:
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Approximate the line of best fit for each scatter plot.
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Approximate the line of best fit for each scatter plot.

2.

h
® .
40 I LA
°q 0 2o
L
TR AR
- (]
LR :.
n LA TP P
w0 B e o e
2 0% 00 o
2 o 09°" ¢
£ o .® o 0
= o ® QO
5 o o2
0 2 * o4
R
L | 1 1 1 >
10 Weight (in pounds) 40 50
20 30

Mumber of Hours of Exercise () vs. Number
of Months Machine was Cwned (X)
10 — .
4
8 — L] .
7 — =
> 6
5 — . . .
4 —
3 - * *
2 — L]
T T T
0 5 10
X
4,
- " a0
090 b
. o0
13§ .
"
°
.o
L e L4
~ o
. 130 & . ”
o
= . e 0 . A
.
125 et
. .
45 50 55 &0
Tie2mW

P VLR Comgunitiond srbedon of Mothe D dw Tobaws Dedholid rochs, ropoce
worsod Yy oo monedor of catioos Dased 20 12 oaypres,



